)

~AUT JOURNAL OF
CIVIL

ENVEINEERING AUT Journal of Civil Engineering

AUT J. Civil Eng., 6(2) (2022) 175-190
DOI: 10.22060/ajce.2022.21321.5801

Evaluation of Sustainability Performance of Cementitious Mortars Containing Silica
Fume

P. Dashti!, R. Banar', A. M. Ramezanianpour?, A. Zolfagharnasab!, A. A. Ramezanianpour', M. Nikravan®*

' Department of Civil & Environmental Engineering, Amirkabir University of Technology, Tehran, Iran.
2School of Civil Engineering, College of Engineering, University of Tehran, Tehran, Iran.
*Building Materials and Construction Chemistry, Technische Universitét Berlin, Berlin, Germany.

Review History:

Received: Apr. 26, 2022
Revised: Sep. 04, 2022
Accepted: Oct. 27, 2022
Available Online: Nov. 13,2022

ABSTRACT: Because of the growing importance of sustainability in the global market, as well as
the negative environmental consequences of cement manufacturing, partial replacement of Portland
cement (PC) with supplementary cementitious materials (SCMs) such as silica fume (SF) has become
increasingly popular. The purpose of this study was to build a framework for sustainable practices based
on eighteen sustainability indicators, which included technical, economic, and environmental factors.
Cementitious matrixes were generated by replacing PC with SF at different percentages of the mass
of the matrix: 0, 5, 6.5, 7.5, 8.5, and 10%. Several laboratory experiments were carried out to obtain
an accurate evaluation, including the measurement of setting times, compressive strength, capillary

Keywords:

Silica fume (SF)

water absorption, and surface electrical resistivity on mortar specimens, which were used as technical Sustainabilit
. . . . . . . . ustamabnill
indicators. The environmental implications of products were also evaluated using a life cycle approach, Y

and sensitivity analysis was performed to develop a robust sustainability assessment model for SF Optimum replacement level
substitution. In addition, According to the findings, SF has the potential to raise the sustainability score
by at least 36.4% and as much as 118.2%. When compared to all of the other combinations evaluated,

the specimen containing 8.5% SF achieved the greatest sustainability score and was the most sustainable

Life cycle assessment (LCA)
Supplementary cementitious materi-

als (SCMs)
mixture. The concept and technique used in this study can be applied to other SCMs of a similar nature.

1- Introduction

Generally, the utilization of supplementary cementitious
materials (SCMs) reduces clinker consumption and makes
cement-based construction materials less expensive, more
environmentally compatible, and more energy-saving [1].
Moreover, using pozzolans as a mineral admixture could
enhance cementitious materials’ engineering properties, such
as compressive strength and durability. This is related to the
effect of SCMs on the microstructure and permeability of the
blended cement composites [2, 3]. Among the different types
of SCMs, silica fume (SF) is a by-product of the ferroalloy
production industries commonly used to make high-
performance concrete [4-6]. SF incorporation modifies the
hydrated cement and concrete properties through pozzolanic
reactions, filler effect, and provision of nucleation sites [7].
By increasing the Si/Caratio in the mix, using SF would result
in the formation of C-S-H with a Tobermorite-like structure
[8]. This enhances the paste’s pore structure and compressive
strength [9, 10]. Moreover, the lower permeability of SF-
containing mixes results in impeded transportation of water
and chemicals into the mix, thus improving the durability of
such mixtures in various aggressive environments [11, 12].
Besides, it could improve the properties through modification

*Corresponding author’s email: morteza.nikravan@campus.tu-
berlin.de

of the interfacial transition zone (ITZ) [13, 14]. These positive
effects of using SF as an SCM have been stated in many
previous researches [10, 15-17]. The use of SF increases
the water demand in cementing mixtures. Consequently, the
addition of water-reducing admixtures (WRA) is unavoidable
[18, 19]. Many researchers concluded that the use of WRA,
due to compensation for the workability loss, can improve the
performance of SF-containing mixtures [20-22]. However,
it is essential to notice that replacing cement with mineral
admixtures in cementitious composites could result in a
dilution effect [23, 24].

Although SF improves the characteristics of cementitious
construction materials, its market price is higher than the other
SCMs [25-27]. So, it is added in relatively small amounts in
practice, typically 5-10% of total binder content, to reduce
the segregation and bleeding of fresh mixtures, enhance
the mechanical properties, and improve the permeability
and durability [28, 29]. Previous research indicated that the
optimum substitution of SF could be limited by up to 12%
of cementing materials content [19]. Some studies showed
that the optimum replacement level of PC with SF is 6%—
12% [30-32]. Karein et al. [33] and Shekarchi et al. [34]
suggest an optimum replacement level of PC by SF of 7.5%
to decrease the chloride ions attack in concrete. Neville [35]
proposes replacing PC with SF in the range of 8-10% by
mass in constructing structures on the shores. In all of these

Copyrights for this article are retained by the author(s) with publishing rights granted to Amirkabir University Press. The content of this article
BY NG is subject to the terms and conditions of the Creative Commons Attribution 4.0 International (CC-BY-NC 4.0) License. For more information,

please visit https://www.creativecommons.org/licenses/by-nc/4.0/legalcode.

175



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

Table 1. Chemical and physical characteristics of binders.

Chemical composition* (%) PC SF
CaO 63.98 0.49
SiO2 21.44 93.54
ALLO3 4.73 0.43
Fe203 4.25 0.94
SO3 2.35 0.71
MgO 1.40 1.00
Na20 0.23 0.82
K20 0.65 1.04
Loss on ignition (%) 0.93 0.67
Specific gravity 3.06 2.16
Fineness (cm?/gr) 3230 342200%*

* Chemical composition is determined based on the X-Ray fluorescence method (XRF).
** Fineness is specified by gas adsorption, according to ISO 9277 (BET method) [45].

researches, the optimum amount of using SF is proposed
based on mixtures’ mechanical properties and durability. In
some studies, besides cement-based composites’ technical
properties, only CO2 emissions have been calculated as an
environmental indicator for comparing combinations [36,
37]. In addition, to achieve a sustainable mixture, a few
scientific papers suggested the multi-criteria decision support
Methodology for the Relative Sustainability Assessment of
Building Technologies (MARS-SC, from the Portuguese
acronym) to determine the sustainability score [27, 38-40].
However, a robust framework to include all impacts for life
cycle assessments (LCA), cost, fresh characteristics, and
mechanical and durability properties are not investigated.

Given the above, it is necessary to facilitate the selection
of cementitious composites containing silica fume by
providing a framework based on objective sustainability
considerations that can be achieved through tender conditions
and construction contracts. In the present research, a decision
support framework was proposed based on MARS-SC indices
that account for fresh, mechanical, and durability properties
along with materials cost and LCA for all environmental
impacts’ features. In addition, a laboratory program was
conducted to precisely calculate the optimal amount of silica
fume reliable for the construction industries containing
accurate and practical percentages, including 5, 6.5, 7.5, 8.5,
and 10% SF. For a better comparison of studied mixtures,
also a control mixture without SF had been made.

2- Experimental Program and Methods
2- 1- Materials

Silica fume and ASTM Type II PC used in this study
were purchased from the Azna Ferroalloys Company and

176

Kurdistan’s Cement Factory, respectively. The physical
characteristics and chemical analyses of the PC and SF are
demonstrated in Table 1. It should be noted that the cementing
materials (i.e., PC and SF) met the [41] and [42] requirements,
respectively. SF was incorporated in the form of a slurry
to prevent agglomeration and achieve more homogenous
mixtures. In this regard, SF was mixed with portions of the
mixing water and WRA by hand blending for 2—4 minutes to
form a homogeneous slurry.

Crushed natural sand was used in the mortar according
to [43], with a specific gravity of 2.54, water absorption of
3.2%, and a fineness modulus of 2.74. The Gradation curve
of sand is shown in Fig. 1.

A liquid-modified polycarboxylate ether-based WRA
was added to attain a fixed flow spread of the fresh mortars
that complied with ASTM C494-Type G admixtures [44].
Potable water was used for the preparation of pastes and
mortars.63.98.

2- 2- Mixture proportion

As presented in Table 2, six mortar mix designs were
studied. Based on many previous studies [12, 28, 30-35], the
optimum replacement level of PC with SF has been shown in
the range of 5-10%. Therefore, mixtures were prepared by
replacing 0, 5, 6.5, 7.5, 8.5, and 10% (by mass) of PC with
SF. The water-to-binder ratio of 0.485 and the aggregate-to-
binder ratio of 2.75 were chosen for all specimens similar to
the ASTM C109 test method [46].

2- 3- Preparation and curing of specimens
The mixing procedure of pastes and mortars was
conducted based on ASTM C305-14 [47]. After mixing, the



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

100
S0
80
70

60
e Sand

= == = Max

Min

40
30
20
10

Cumulative Passing
(%o by Mass)
(¥
=

0.1 1 10
Particle Size (mm)

Fig. 1. The grading of the used fine aggregates in comparison to ASTM C33 limits.

Table 2. Mixture proportions for mortars.

OoPC

Materials and proportions (control) SF5 SF6.5 SF7.5 SF85 SF10
PC (kg/m?) 537 510 502 497 491 483
SF (kg/m?) 0 27 35 40 46 54
Water (kg/m?) 261 261 261 261 261 261
Sand (kg/m?) 1477 1477 1477 1477 1477 1477
WRA (% of cementitious materials) 0.00 0.11  0.14 0.15 0.17  0.19
Flow spread (mm) 210 190 185 180 185 175

177



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

Sustainability Assessment

!

Definition of Sustainability Indicators

! I
: Environmental ‘ Technical ‘ Economic :
I
: I | I l :
: Environmental Impacts | Experimental Program ‘ Cost of Main Components :
| I
| I
i [ I | :
1 I I ] 1
i Initial Setting ‘ | Final Setting | Compressive Electrical | Capillary Water | |
- Time Time | Strength Resistivity Absorption :

Quantification of Data

'

Normalization

'

Aggregation

{

Calculation of Sustainability Score

!

Sensitivity Analysis

Fig. 2. The methodology of the sustainable framework.

mortars were cast in pre-oiled molds. Then, the specimens
were de-molded after 24 hours of curing under a moist cover.
Subsequently, samples were kept in saturated lime water until
the test age.

2- 4- Testing methods

In this study, the amount of necessary water for the
cement with different replacements of SF to achieve normal
consistency was measured based on ASTM C187-16 [48].
After that, the pastes were employed to measure the setting
time (based on ASTM C191-13 [49]).

A flow table test was applied to determine the flowability/
workability of mortar in compliance with ASTM C1437-
15 [50]. The compressive strength of mortar mixtures was
determined by testing three 50 mm cube samples at the ages
of 2, 7,28, and 90 days based on ASTM C109 [46].

The capillary water absorption rate was evaluated under
ASTM C1585-20 [51] by testing the mortar discs with a
diameter of 100 mm and a height of 50 mm that dried for two
weeks in a 50°C oven.

178

The surface electrical resistivity test was conducted using
the non-destructive Wenner four-probe device, according to
FM 5-578 designation (FDOT 2004) [52]. Three lime water-
saturated 100x200 mm cylindrical samples were tested at 7,
28, and 90 days.

2- 5- The sustainability decision framework

A developed framework was based on the MARS-SC
method, including five steps to calculate the sustainability
score of each mixture, which are explained in the following
and shown in Fig. 2.

Selection of sustainability indicators based on the scope
and aim of the study;

Normalization of the quantified indicators for each of
the technical, economic, and environmental performances
according to the Diaze-Balteiro relation (Eq. (1)) [53]:

Vi — Vi*_V*i
V. —V*i

1

()



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

Table 3. Sustainability indicators.

. . Weight Weight of dimensions
Indicators Unit (%) (%)
Initial setting time (IST) min 5.0
Final setting time (FST) min 5.0
Compressive strength (CS) MPa 40.0
Technical . o 50%
Electrical resistivity (ER) kQ.cm 20.0
Initial rate of water absorption (IWA) mm/\s 15.0
Secondary rate of water absorption (SWA) mm/s 15.0
Economic Binders and superplasticizer costs (BC) € 100.0 25%
Global warming potential (GWP) kg (CO2 eq) 24.1
Net use of freshwater (FW) m’ (eq) 152
Ozone layer depletion potential (ODP) ke (CCI:)C Ile 13.5
Acidification potential (AP) kg (SO2 eq) 8.4
Eutrophication potential (EP) kg (PO4 eq) 8.2
Radioactive waste disposed (RWD) kg 7.0
Environmental . . . . 25%
Abiotic depletion potential for non-fossil resources ke (Sb eq) 6.6
(ADPE) gi>beq :
Photochemical ozone creation potential (POCP) kg (C2H4 eq) 5.8
Hazardous waste disposed (HWD) kg 5.0
Abiotic depletion potential for fossil resources MJ 40
(ADPF)
Non-hazardous waste disposed
(NHWD) kg 2.1

Where Vi is the ith indicator, and are the worst and best
values of the ith sustainability indicator, respectively.

Aggregation of the quantified results by considering Eq.
(2) and the weighting systems indicated in Table 3.

PD, :Zn:m xV,

i=1

2

Calculation of sustainability index (PS) by using Eq. (3):

PS =PD, xW,+PD.xW_+ PD,xW, 3)

Where PD,, PD_, and PD, are the indicators of the
technical, economic, and environmental dimensions,
respectively, and W, W, and W, the weights attributed to
each dimension.

Sensitivity analysis:

Sensitivity analysis is carried out based on the Hofstetter
triangle method [54] to analyze the effect of technical,
economic, and environmental weights on the sustainability
score (PS). In this method, the weights and combinations
are indicated at the side and a point inside the triangle,
respectively.

Any weighting scheme is not necessarily based on the
natural sciences but will inherently depend on economics,
policies, cultures, and other preferences and value systems
[55]. In this study, the weightings of 50, 25, and 25% were
considered for technical, economic, and environmental
dimensions based on an expert panel, respectively. A higher
weight coefficient is dedicated to technical performance
because the enhancement of durability and mechanical
properties of concrete will lead to decreasing maintenance
costs and increment of the life of the structure, which directly
affects the economic and environmental performances. Since
the economic parameter is relatively essential, its weight
was considered equal to the environmental parameter.
The indicators and weight of each separated sustainability

179



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

320

e}
=
=

s
=
(=]

2
=
(=]

[}
i
=

(3]

—

=

Water Demand (%)

26.0

OPC 8F5

SF6.3

SF71.3 SFB.5 SF10

Fig. 3. Test results of water demand for normal consistency.

= (%] =] [*F]
2 8 3 B

[

Setting time (minute s)
=

Lh
=

8F3

3F6.3

SF7.3 SF8.3 SF10

B nitial setting B Final sethng

Fig. 4. Test results of setting time.

dimension are presented in Table 3.

3- Quantification of Sustainability Indicators
3- 1- Technical performance

The experimental test results of this research were used
to quantify the technical performance of each mixture. For
this purpose, the results of initial and final setting times,
compressive strength, electrical resistivity, and initial and
secondary capillary water absorption rates at different ages
up to 90 days were selected as technical indicators. This
section provides an overview of the different properties of
mixtures containing SF.

3- 1- 1- Water demand
The water demand test results of the normal consistency
of pastes incorporating various SF amounts are demonstrated

180

in Fig. 3. Based on these results, the water required to achieve
normal consistency increased by adding SF to the pastes.
By replacing parts of PC with SF, the fineness of the binder
materials increases, and higher water demand for the mixtures
is attained [56, 57]. For example, replacing 10% of PC with
SF corresponded to an increase of 15% in the water demand
relative to the control mixture (OPC).

3- 1- 2- Setting time test

SF is one of the recommended options to make durable
concrete in marine areas [10]. Therefore, in marine
environments, which have a high ambient temperature, a
delay in the setting time of cementing mixture could be more
desirable [58]. Thus, in this study, higher setting times are
considered as better technical performance. Fig. 4 indicates
the outcomes of the initial and final setting times of PC and



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

]
i

“oEH

o

=

-
=
(=1

s
=
i

(=1
SRR,

b
=
(=1

Compressive Strength (MPa)
Ll i
= =
(=1
PRRIETEETE

i

e e e S ]

2

=
=

OPC 8F3 8F

o

3

8

e

B2 Days
o7 Dayz
B23 Day=
B %0 Day=

B

B

B

B

e

F7.5

Fig. 5. Test results of compressive strength.

SF-incorporated pastes. According to the results, the use of
SF increased both the initial and final setting times of the
pastes. Higher SF contents increased the setting times more
significantly due to the dilution effect of utilizing SCMs [23,
24]. However, in replacing lower amounts of PC with SF
(e.g., SF5), the dilution effect was not significant, and the
final setting time was less than the control mixture (OPC).
In general, 5 and 10% SF increased the initial setting time
by about 4.7 and 22.1%, respectively. However, the final
setting time of the SF5 mixture was reduced to 4.1%, while
it increased by 11.9% by using 10% of SF. These results are
generally in accordance with other investigations [59-62].

3- 1- 3- Compressive strength test

Compressive strength is one of the significant mechanical
properties of cementitious construction materials, and
the results are demonstrated in Fig. 5. As illustrated, the
compressive strength of specimens grew with time due to
the cement hydration process. Like previous research, the
compressive strength of samples containing SF has increased
due to its high pozzolanic activity and filling effect [63-65].
Among the studied mixtures, SF10 at the age of 90 days had
the highest compressive strength, which was 25% higher than
the OPC at a similar age. In this study, the 28-day compressive
strength of each mixture has been considered as a technical
assessment criterion.

3- 1- 4- Capillary water absorption test

Capillary water absorption, as a reliable index of
permeability, is related to durability properties. The lower
capillary water absorption of concrete causes the higher
durability of the mixture [66]. Both initial and secondary

181

water absorption rates are measured by averaging their value
at 7, 28, and 90 days to consider as the technical indicators.

The capillary water absorption test results can illustrate
the number of capillary pores, shape, and continuity. The
high-water absorption rate of the capillary pores indicates
the weakness of the specimen’s matrix structure and its high
permeability. In this study, the initial and secondary rate
of water absorption results of mixtures is presented in Fig.
6 at 7, 28, and 90 days. The results indicate that the initial
water absorption rate was more than the secondary water
absorption rate. Comparing the results of the control sample
with SF samples shows that the use of SF reduced the initial
water absorption rate of the specimens in all ages, which is
referred to as the filling effect and pozzolanic reactivity of SF
ultrafine particles [64, 65]. The permeability improvement
employing the ASTM C1585 test results has been reported by
many researchers [67-69]. However, this trend was reversed
for the secondary water absorption rate. One possible reason
could be filling the capillary pores of the control mixture due
to its high initial water absorption rate, which needs more
research.

3- 1- 5- Surface electrical resistivity test

As a non-destructive test, the surface electrical resistivity
test can make a proper indication of the permeability and
durability of mixtures in destructive environments [33]. The
higher electrical resistivity of mixtures demonstrates better
technical performance. This technical indicator was evaluated
by averaging surface electrical resistivity at 7, 28, and 90
days. According to the results (see Fig. 7), the use of SF could
increase the electrical resistivity of mortar samples up to 4
times. It should be noted that two factors, the permeability



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

=
=)

=

= = =

w =+ oy (=] —
(spmm)(f-)., 0T 58

2 8§ 28 8§ 8
ey (] ~l — —
(sp ) (-) ., O T 1

8F6.3 8F1.3 8F8.3 SF10

8F3

SEF3 SF6.3 SF1.3 SEB.3 SF10

oPC

@7 Day: 8218 Days ®=90 Days

07 Days B28 Days @90 Days

(b)

(a)

Fig. 6. (a) Initial and (b) secondary rate of water absorption.

T T e o e e

W =]
=+ =+ o e L ™ - -

(o) ANADSISI [LILIIT

1y =] W =] W =] L] =]

SF6.5 SF7.3 SF8.3 SF10

3

SF

Fig. 7. Test results of surface electrical resistivity.

182



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

Table 4. The cost of the studied mortar mixtures.

mixture OPC SF5S SF6.S SF7.5 SF85 SF10
Cost (€/m?) 37.59 50.09 5377 56.00 58.74 6234
Cost (Tomans/m?®)/1000 1071 1427 1532 1596 1674 1777

Table 5. Environmental impressions of PC, SF, and WRA [73].

Environmental indicator 1 ton of PC 1 ton of SF 1 kg of WRA
GWP [kg CO2 eq.] 8.98E+02 3.92E+00 1.84E+00
FW [m? eq.] 9.50E+00 4.27E-01 5.70E-03
ODP [kg CFC11 eq.] 1.21E-07 9.88E-10 2.61E-10
AP [kg SOz eq.] 1.48E+00 7.26E-03 2.38E-03
EP [kg (PO4) eq.] 2.11E-01 1.05E-03 9.81E-04
RWD [kg] 1.00E-01 1.23E-04 7.24E-04
ADPE [kg Sb eq.] 1.10E-03 3.29E-07 1.11E-06
POCP [kg C2Haeq.] 1.42E-01 5.49E-04 2.47E-04
HWD [kg] 1.20E-01 0.00E+00 2.69E-03
ADPF [MJ] 3.44E+03 4.33E+01 2.79E+01
NHWD [kg] 1.50E+00 7.95E-02 7.78E-03

of mortar and conductivity of the pore solution, affect the
samples’ electrical resistivity. As concluded in capillary
water absorption test results, incorporating SF improved the
impermeability of the mortar specimens. Also, the difference
in electrical resistivity of the control sample and samples
containing SF indicates that the partial substitution of PC by
SF could also decrease the pore solution conductivity due
to the reduction of OH- ions [33]. Among all the mixtures,
SF10 had the highest electrical resistance, which confirms
the significant effect of SF on increasing surface electrical
resistivity.

3- 2- Economic performance

The economic issues could strongly affect the decision-
making regarding the selection of materials in construction
projects. Accordingly, this section of the article examines the
issues related to the economics of SF-containing mixtures.
In this study, the initial cost of the mix designs, based on the
market price of the used binders and WRA, was employed
to examine the economic performance. According to the
mix proportions presented in Table 2, the amount of PC, SF,
and WRA can affect each mixture’s economic performance.
The market prices of PC, SF, and WRA were considered
as 70, 500, and 1500 Euro per ton, respectively. Therefore,
each mixture’s economic performance was calculated by

considering the unit price and the amount of consumption in
each mixture and was reported in Table 4.

3- 3- Environmental performance

Important considerations in evaluating the sustainability
of building materials are the environmental effects of
production, use, and the performance of these materials
during the lifetime of the structure. As the result of this study
is intended to use in the construction industry, it is necessary to
use a reliable life cycle assessment (LCA) for environmental
performance. Several environmental and sustainability tools
and label schemes have been used for concrete components.

One of the standard tools is the Environmental Product
Declaration (EPD), which is standardized in European
countries [70]. EPD covers several stages according to
different stages of the life cycle. In this study, based on [71]
research, 11 environmental indicators were employed to
assess the mixtures’ environmental impressions .Modules
A1-A3 (stage of material production) and modules A4-AS
(stage of the construction process) are included in this study
for life cycle stages (EN 15643-1 (BSI 2010)) [72]. The
EPD data for unit values of the environmental indicators are
presented in Table 5 [73], and the environmental impacts of
the mixture (Table 6) are determined based on the presented
weights for each environmental indicator in Table 2. For

183



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

Table 6. Environmental impacts of the mortar mix designs.

Mortar mix designs

Environmental impression classification

OPC SF5 SF6.5 SF7.5 SF8.5 SF10
GWP [kg COz eq.] 4.82E+02  4.58E+02  4.51E+02  4.46E+02 441E+02  4.34E+02
FW [m3 eq.] 5.10E+00  4.86E+00  4.79E+00  4.74E+00  4.69E+00  4.62E+00
ODP [kg CFC11 eq.] 6.50E-08 6.19E-08 6.10E-08 6.04E-08 5.97E-08 5.88E-08
AP [kg SOz eq.] 7.95E-01 7.56E-01 7.45E-01 7.38E-01 7.29E-01 7.18E-01
EP [kg (PO4) eq.] 1.13E-01 1.08E-01 1.07E-01 1.06E-01 1.05E-01 1.03E-01
RWD [kg] 5.37E-02 5.14E-02 5.07E-02 5.03E-02 4.98E-02 4.90E-02
ADPE [kg Sb eq.] 5.91E-04 5.62E-04 5.53E-04 5.48E-04 5.41E-04 5.32E-04
POCP [kg C2Ha eq.] 7.63E-02 7.26E-02 7.15E-02 7.08E-02 7.00E-02 6.89E-02
HWD [kg] 6.44E-02 6.28E-02 6.23E-02 6.18E-02 6.14E-02 6.07E-02
ADPF [MJ] 1.85E+03 1.77E+03 1.75E+03 1.73E+03 1.72E+03 1.69E+03
NHWD [kg] 8.06E-01 7.72E-01 7.62E-01 7.55E-01 7.47E-01 7.37E-01

Table 7. Technical, economic, and environmental performances of the studied mortar mixtures.

orPC

SF5 SF6.5 SF7.5 SF8.5 SF10
(control)

Initial setting time (IST) 0.00 0.21 0.66 0.61 0.76 1.00
Final setting time (FST) 0.26 0.00 0.43 0.37 0.60 1.00
Compressive strength (CS) 0.00 0.48 0.49 0.38 1.00 0.85
Initial rate of water absorption (IWA) 0.00 0.73 0.91 0.92 1.00 0.95

Secondary rate of water absorption
(SWA) 1.00 0.00 0.29 0.41 0.88 0.71
Electrical resistivity (ER) 0.00 0.49 0.68 0.92 1.00 1.00
Technical performance (PDr) 0.16 0.41 0.57 0.59 0.95 0.89
Economic performance (PDC) 1.00 0.50 0.35 0.26 0.15 0.00
Environmental performance (PDE) 0.00 0.49 0.64 0.74 0.85 1.00

example, the global warming potential (GWP) of the SF10
mixture is calculated as follows:

GWP of SF10 mixture = GWP (PC) + GWP (SF) +
GWP (WRA) = 483%(8.98E+02) + 54x(3.92E+00) +
(0.19%537)x(1.84E+00) = 4.34E+02.

4- Sustainability Assessment

The normalized values of all technical indicators and
the technical performance (PDT), Economic performance
(PDC), and Environmental performance (PDE) of each
cementitious mixture are presented in Table 7. According
to the technical performance, the SF mixtures had a better
performance than the OPC mixture. The SF8.5 had the

184

highest technical performance (PDT=0.95), while the lowest
technical performance corresponded to the OPC mixture
(PDT=0.16). All mixtures containing SF had lower economic
performances than the control mixture. The higher cost of
binders and utilization of the WRA for mixtures containing
SF will lead to worse economic performance relative to the
OPC mixture.

Based on the results of Table 7, the control mixture (OPC)
had the worst environmental scores (PDE). In contrast, the
best performance is attributed to the mixture containing
10% SF by mass (SF10). These results illustrated that
reducing environmental impacts due to the utilization of SF
in cementitious mixtures at each replacement level caused



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

0.80
0.70
» 060
7 0.50
= /
= 040
A
2 /
-2 030
Z % 7
“ 920 :
0.10
= 016
0.00 :
OPC SFS SF6.5

L

SF13 SF8.5 SF10

CWE*PDE = WO=PDC ZZaWTHPDT  e——Pi

Fig. 8. Sustainability scores of each mixture.

a better environmental score relative to the control mixture.
These results are derived by considering silica fume as a by-
product of industrial processes. By applying this approach,
higher replacements of PC by SF implied better environmental
performances.

Fig. 8 presents the sustainability scores (PS) of the
studied mixtures. The sustainability score is calculated by
aggregation of ternary performances by multiplying their
weighting systems. The results showed that the control
mixture (OPC) had the lowest sustainability score among the
mix designs while having the best economic performance due
to the lower market price relative to the SF mixtures. There
was no significant difference between the sustainability score
of SF6.5 (PS=0.54) and SF7.5 (PS=0.56) mixtures. The
results illustrated that the mixture with the best environmental
performance had not the best sustainability performance.
For example, the SF10 had the highest environmental score
due to the lower environmental burdens of SF while having
the lowest economic score. A comparison of the results
showed that 8.5% replacement of PC by SF had the best
technical performance, while this property has not occurred
in environmental and economic performances. Nevertheless,
the overall sustainability assessment indicated that SF8.5 had
the highest sustainability score (PS=0.72). So, SF8.5 could
be considered the optimum mixture among other studied
mixtures based on sustainability assessment.

5- Sensitivity Analysis

A sensitivity analysis was performed on each sustainability
dimension to investigate the consistency of the results. The
sensitivity analysis of mixtures in Fig. 9. indicates that if
environmental performance and economic performance are
considered as the highest preference in the sustainability
assessment, SF10 and OPC can be the most sustainable
mixtures, respectively. It is possible to deduce that the SF8.5
mixture is the best SF-containing mixture for different weight
combinations. As shown in Fig. 9, the weights combination of
technical (50%), economic (25%), and environmental (25%)
performances is placed inside the area for the SF8.5 mixture
with a safe margin.

6- Conclusion

This research evaluated the sustainability performance
of SF cement-based mortar by investigating the technical,
economic, and environmental performance of a control
mixture and five mixtures with partial substitution of PC
by SF (5-10%). The summarized results of this research are
mentioned as the following:

In this study, by quantifying experimental test results
considering fresh, mechanical, and durability indicators as
the technical performance of each mixture, the highest and
lowest technical performances corresponded to the SF8.5
(PDT=0.95) and OPC (PDT=0.16), respectively.

185



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

L

] ) R ] 8 ]

Technical (PDy)

&
2
¢ B %
. %
2
9
o I Preference
- Weighting point:
. PD=50%
OPC PD=25%
®  PDy=25%
& 2

Fig. 9. Sensitivity analysis results.

All mixtures containing silica fume obtained higher
environmental performance (PDE=0.49-1) than the control
mixture (PDE=0) due to the utilization of the EPD method
for assessing the environmental performance as a more
acceptable industry method. This is in contradiction with the
economic allocation method that was selected by others to
describe the environmental performance of the mixtures.

The sensitivity analysis of mixtures indicates that if
technical, economic, and environmental performance were
considered as the highest preference in the sustainability
assessment, SF8.5, OPC, and SF10 can be the most sustainable
mixtures, respectively.

In sensitivity analysis, the weights combination of
technical (50%), economic (25%), and environmental (25%)
performances is placed inside the area of the SF8.5 mixture
with a safe margin. It is possible to deduce that the SF8.5
mixture is the best SF-containing mixture for different weight
combinations. The sensitivity analysis performed in section
7 will provide the possibility of using scenarios other than
the mentioned scenario to obtain the optimal replacement
percentage of SF.

Due to the lower environmental burdens and better
technical performance, SF drastically impressed the total
sustainability score of mixtures. Despite the higher cost,
all SF mortars have a higher sustainability score by at least
36.4% and up to 118.2% than the OPC.

The best technical performance (PDT=0.95) was assigned
to the mixture containing 8.5% of SF (SF8.5). The SF10 had
the highest environmental score (PDE=1) due to SF’s lower
environmental burdens while having the lowest economic
score. On the contrary, the control mixture OPC showed the
lowest sustainability score while having the best economic

186

performance (PDC=1) due to the lower market price relative
to the SF mixtures.

Based on the proposed method for sustainability
assessment of mixtures, the specimens with 8.5% of SF
and the control mixture achieved the highest and lowest
sustainability scores, respectively. Therefore, the integrated
sustainability assessment introduces 8.5% of SF as the
technical-economic-environmental-preferred alternative to
be considered greener and more sustainable using SF. The
methodology of this study can be applied to similar SCMs.

For future studies, it is suggested to consider various
factors of mixtures such as the water-to-cement ratio and
binder content to strengthen the conclusions made from this
study. Also, investigating the other technical properties of
mortar including drying shrinkage, tensile strength, chloride
penetration, carbonation, etc can be considered in future
work.

Acknowledgments

The authors would like to thank the staff’s assistance
during experiments in the Concrete & Materials Laboratory
at the Amirkabir University of Technology (AUT). Morteza
Nikravan acknowledges the support of the Alexander von
Humboldt Foundation.

References

[1]S. Bhanja, B. Sengupta, Modified water—cement ratio
law for silica fume concretes, Cement and Concrete
Research, 33(3) (2003) 447-450.

[2] M.D. Thomas, M. Shehata, S. Shashiprakash, D. Hopkins,
K. Cail, Use of ternary cementitious systems containing
silica fume and fly ash in concrete, Cement and concrete



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

research, 29(8) (1999) 1207-1214.

[3]M.A. Abd Elaty, M.F. Ghazy, Performance of Portland
cement mixes containing silica fume and mixed with
lime-water, HBRC Journal, 10(3) (2014) 247-257.

[4] H. Yan, W. Sun, H. Chen, The effect of silica fume and
steel fiber on the dynamic mechanical performance of
high-strength concrete, Cement and Concrete Research,
29(3) (1999) 423-426.

[5]Z. Wu, C. Shi, K. Khayat, Influence of silica fume content
on microstructure development and bond to steel fiber
in ultra-high strength cement-based materials (UHSC),
Cement and Concrete Composites, 71 (2016) 97-109.

[6]S. Chu, A. Kwan, Co-addition of metakaolin and silica
fume in mortar: effects and advantages, Construction and
Building Materials, 197 (2019) 716-724.

[7]L.R.C. Tavares, J.E.T. Junior, L.M. Costa, A.C. da Silva
Bezerra, P.R. Cetlin, M.T.P. Aguilar, Influence of quartz
powder and silica fume on the performance of Portland
cement, Scientific Reports, 10(1) (2020) 1-15.

[8]1. Richardson, G. Groves, The incorporation of minor
and trace elements into calcium silicate hydrate (C- S-
H) gel in hardened cement pastes, Cement and Concrete
Research, 23(1) (1993) 131-138.

[9] B. Lothenbach, K. Scrivener, R. Hooton, Supplementary
cementitious materials, Cement and concrete research,
41(12) (2011) 1244-1256.

[10] A.A. Ramezanianpour, Cement replacement materials,
Springer Geochemistry/Mineralogy, DOI, 10 (2014)
978-973.

[11]P.K. Mehta, P.J. Monteiro, Concrete: microstructure,
properties, and materials, McGraw-Hill Education, 2014.

[12]R. Banar, P. Dashti, A. Zolfagharnasab, A.M.
Ramezanianpour, AA. Ramezanianpour, A
comprehensive comparison between using silica fume in
the forms of water slurry or blended cement in mortar/
concrete, Journal of Building Engineering, 46 (2022)
103802.

[13] V. Nezerka, P. Bily, V. Hrbek, J. Fladr, Impact of silica
fume, fly ash, and metakaolin on the thickness and
strength of the ITZ in concrete, Cement and concrete
composites, 103 (2019) 252-262.

[14]J.A. Rossignolo, Effect of silica fume and SBR latex on
the paste aggregate interfacial transition zone, Materials
Research, 10(1) (2007) 83-86.

[15] A. Mehta, D.K. Ashish, Silica fume and waste glass
in cement concrete production: A review, Journal of
Building Engineering, 29 (2020) 100888.

[I6]M.I. Khan, R. Siddique, Utilization of silica fume in
concrete: Review of durability properties, Resources,
Conservation and Recycling, 57 (2011) 30-35.

[17]D. Shen, J. Kang, Y. Jiao, M. Li, C. Li, Effects of different
silica fume dosages on early-age behavior and cracking
resistance of high strength concrete under restrained
condition, Construction and Building Materials, 263
(2020) 120218.

[18] F. Canpolat, Sulfate resistance of mortars containing
silica fume and pozzolan, Proceedings of the Institution
of Civil Engineers-Construction Materials, 165(2) (2012)

187

65-72.

[19] V. Sounthararajan, K. Srinivasan, A. Sivakumar, Micro
filler effects of silica-fume on the setting and hardened
properties of concrete, Research Journal of Applied
Sciences, Engineering and Technology, 6(14) (2013)
2649-2654.

[20] M.F.M. Zain, M. Safiuddin, H. Mahmud, Development
of high performance concrete using silica fume at
relatively high water—binder ratios, Cement and concrete
research, 30(9) (2000) 1501-1505.

[21] R. Demirboga, I. Tiirkmen, M.B. Karakoc, Relationship
between ultrasonic velocity and compressive strength for
high-volume mineral-admixtured concrete, Cement and
concrete research, 34(12) (2004) 2329-2336.

[22] M. Mazloom, A. Ramezanianpour, J. Brooks, Effect of
silica fume on mechanical properties of high-strength
concrete, Cement and Concrete Composites, 26(4)
(2004) 347-357.

[23]M. Frias, M.S. De Rojas, J. Cabrera, The effect that
the pozzolanic reaction of metakaolin has on the heat
evolution in metakaolin-cement mortars, Cement and
concrete research, 30(2) (2000) 209-216.

[24] A. Pilvar, A.A. Ramezanianpour, H. Rajaie, S.M.M.
Karein, Practical evaluation of rapid tests for assessing
the chloride resistance of concretes containing silica
fume, Computers and Concrete, 18(4) (2016) 793.

[25]1L. Assi, K. Carter, E.E. Deaver, R. Anay, P. Ziehl,
Sustainable Concrete: Building a greener future, Journal
of cleaner production, 198 (2018) 1641-1651.

[26]I.C.S. Illankoon, V.W. Tam, K.N. Le, J. Wang, Life
cycle costing for obtaining concrete credits in green star
rating system in Australia, Journal of cleaner production,
172 (2018) 4212-4219.

[271K.M. Rahla, R. Mateus, L. Braganca, Comparative
sustainability assessment of binary blended concretes
using Supplementary Cementitious Materials (SCMs)
and Ordinary Portland Cement (OPC), Journal of Cleaner
Production, 220 (2019) 445-459.

[28] T.C. Holland, Silica fume user’s manual, Federal
Highway Administration,

[29] F. Moodi, S. Lashkari, P. Dashti, Durability of cement-
based and geopolymer coating mortars in the Persian
Gulf simulated environment, Amirkabir Journal of Civil
Engineering, (Articles in Press) (2022).

[30]J. Dotto, A. De Abreu, D. Dal Molin, I. Miiller, Influence
of silica fume addition on concretes physical properties
and on corrosion behavior of reinforcement bars, Cement
and concrete composites, 26(1) (2004) 31-39.

[31] A. Behnood, H. Ziari, Effects of silica fume addition and
water to cement ratio on the properties of high-strength
concrete after exposure to high temperatures, Cement
and Concrete Composites, 30(2) (2008) 106-112.

[32]1H.-W. Song, S.-W. Pack, S.-H. Nam, J.-C. Jang, V.
Saraswathy, Estimation of the permeability of silica fume
cement concrete, Construction and Building Materials,
24(3) (2010) 315-321.

[33]S.M.M. Karein, A. Ramezanianpour, T. Ebadi, S.
Isapour, M. Karakouzian, A new approach for application



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

of silica fume in concrete: Wet granulation, Construction
and Building Materials, 157 (2017) 573-581.

[34] M. Shekarchi, A. Rafiee, H. Layssi, Long-term chloride
diffusion in silica fume concrete in harsh marine climates,
Cement and Concrete Composites, 31(10) (2009) 769-
775.

[35T A. Neville, Good reinforced concrete in the Arabian
Gulf, Materials and structures, 33(10) (2000) 655-664.

[36]R. Latawiec, P. Woyciechowski, K.J. Kowalski,
Sustainable  concrete  performance—CO2-emission,
Environments, 5(2) (2018) 27.

[37]S.-J. Kwon, X.-Y. Wang, Optimization of the mixture
design of low-CO2 high-strength concrete containing
silica fume, Advances in Civil Engineering, 2019 (2019).

[38]L. Braganga, R. Mateus, H. Koukkari, Building
sustainability assessment, Sustainability, 2(7) (2010).

[39]1R. Mateus, S. Neiva, L. Braganga, P. Mendonga, M.
Macieira, Sustainability assessment of an innovative
lightweight building technology for partition walls—
comparison with conventional technologies, Building
and Environment, 67 (2013) 147-159.

[40] E.R. Teixeira, R. Mateus, A.F. Camoes, L. Braganga,
F.G. Branco, Comparative environmental life-cycle
analysis of concretes using biomass and coal fly ashes as

partial cement replacement material, Journal of Cleaner
Production, 112 (2016) 2221-2230.

[41]ASTM C150 / C150M-20, Standard Specification
for Portland Cement, ASTM International, West
Conshohocken, PA, 2020.

[421ASTM  C1240-15, Standard Specification for
Silica Fume Used in Cementitious Mixtures, ASTM
International, West Conshohocken, PA, 2015.

[43]ASTM C33 / C33M-18, Standard Specification for
Concrete Aggregates, ASTM International, West
Conshohocken, PA, 2018.

[44] ASTM C494 / C494M-19, Standard Specification for
Chemical Admixtures for Concrete, ASTM International,
West Conshohocken, PA, 2019.

[45]1S0O,1.(2010).“9277:2010 Determination of the specific
surface area of solids by gas adsorption-BET method.”
Geneva: International Organization for Standardization.

[46] ASTM C109 / C109M-20b, Standard Test Method for
Compressive Strength of Hydraulic Cement Mortars
(Using 2-in. or [50 mm] Cube Specimens), ASTM
International, West Conshohocken, PA, 2020.

[47] ASTM (C305-20, Standard Practice for Mechanical
Mixing of Hydraulic Cement Pastes and Mortars of Plastic
Consistency, ASTM International, West Conshohocken,
PA, 2020.

[48] ASTM C187-16, Standard Test Method for Amount of
Water Required for Normal Consistency of Hydraulic
Cement Paste, ASTM International, West Conshohocken,
PA, 2016.

[49] ASTM C191-13, Standard Test Methods for Time of
Setting of Hydraulic Cement by Vicat Needle, ASTM
International, West Conshohocken, PA, 2013.

[50] ASTM C1437-20, Standard Test Method for Flow of
Hydraulic Cement Mortar, ASTM International, West

188

Conshohocken, PA, 2020.

[SITASTM C1585-20, Standard Test Method for
Measurement of Rate of Absorption of Water by
Hydraulic-Cement Concretes, ASTM International, West
Conshohocken, PA, 2020.

[52] Designation: FM 5-578, “Florida Method of Test for
Concrete Resistivity as an Electrical Indicator of its
Permeability”, 2004.

[53] L. Diaz-Balteiro, C. Romero, In search of a natural
systems sustainability index, Ecological Economics,
49(3) (2004) 401-405.

[54]1P. Hofstetter, Perspectives in life cycle impact
assessment: a structured approach to combine models of
the technosphere, ecosphere, and value sphere, Springer
Science & Business Media, 1998.

[55]] S. Sala, A.K. Cerutti, R. Pant, Development of a
weighting approach for the Environmental Footprint,
Luxembourg: European Commission, (2018).

[56] T. Nochaiya, W. Wongkeo, A. Chaipanich, Utilization
of fly ash with silica fume and properties of Portland
cement—fly ash—silica fume concrete, Fuel, 89(3) (2010)
768-774.

[57]1D. Kong, X. Du, S. Wei, H. Zhang, Y. Yang, S.P. Shah,
Influence of nano-silica agglomeration on microstructure
and properties of the hardened cement-based materials,
Construction and Building Materials, 37 (2012) 707-715.

[58] T. Temperley, Corrosion phenomena in the coastal areas
of the Persian Gulf, Corrosion Science, 5(8) (1965) 581-
589.

[59] MIF. Pistilli, R. Wintersteen, R. Cechner, The uniformity
and influence of silica fume from a US source on the
properties of Portland cement concrete, Cement, concrete
and aggregates, 6(2) (1984) 120-124.

[60] A. Alshamsi, K. Alhosani, K. Yousri, Hydrophobic
materials, superplasticizer and microsilica effects
on setting of cement pastes at various temperatures,
Magazine of concrete research, 49(179) (1997) 111-115.

[61]J. Brooks, M.M. Johari, M. Mazloom, Effect of
admixtures on the setting times of high-strength concrete,
Cement and Concrete Composites, 22(4) (2000) 293-301.

[62]1 0. Zaw, Effect of Silica Fume on the Properties of
Concrete, International Journal of Engineering Research
and Advanced Technology-IJERAT (ISSN: 2454-6135),
5(8) (2019) 55-59.

[63] A.K. Kwan, H. Wong, Packing density of cementitious
materials: part 2—packing and flow of OPC+ PFA+ CSF,
Materials and structures, 41(4) (2008) 773-784.

[64]Y. Li, A. Kwan, Ternary blending of cement with fly
ash microsphere and condensed silica fume to improve
the performance of mortar, Cement and Concrete
Composites, 49 (2014) 26-35.

[65] A. Hendi, H. Rahmani, D. Mostofinejad, A. Tavakolinia,
M. Khosravi, Simultaneous effects of microsilica and
nanosilica on self-consolidating concrete in a sulfuric
acid medium, Construction and Building Materials, 152
(2017) 192-205.

[66] S.D. Abyaneh, H. Wong, N. Buenfeld, Computational
investigation of capillary absorption in concrete using a



P. Dashti et al., AUT J. Civil Eng., 6(2) (2022) 175-190, DOI: 10.22060/ajce.2022.21321.5801

three-dimensional mesoscale approach, Computational
Materials Science, 87 (2014) 54-64.

[67] A. Mohan, K. Mini, Strength and durability studies of
SCC incorporating silica fume and ultra fine GGBS,
Construction and Building Materials, 171 (2018) 919-
928.

[68] Sadrmomtazi, B. Tahmouresi, R. Kohani Khoshkbijari,
Effect of fly ash and silica fume on transition zone, pore
structure and permeability of concrete, Magazine of
Concrete Research, 70(10) (2018) 519-532.

[69] A.A. Ramezanianpour, E.R. Dehkordi, A.M.
Ramezanianpour, Influence of Sulfate Ions on Chloride
Attack in Concrete Mortars Containing Silica Fume and
Jajrood Trass, Iranian Journal of Science and Technology,
Transactions of Civil Engineering, 44(4) (2020) 1135-

1144.

[70]R. Frischknecht, F. Wyss, S.B. Knopfel, P. Stolz, Life
cycle assessment in the building sector: analytical tools,
environmental information and labels, The International
Journal of Life Cycle Assessment, 20(4) (2015) 421-425.

[7110. Abbe, L. Hamilton, BRE Global Environmental
Weighting for Construction Products using Selected
Parameters from EN 15804, in, Watford, 2017.

[72] BSI, BS EN 15643: 2010. Part 1: Sustainability of
construction works. Sustainability of buildings. General
Framework, in, BSI London, UK, 2010.

[73] D. Watach, P. Dybet, J. Sagan, M. Gicala, Environmental
performance of ordinary and new generation concrete

structures—a comparative analysis, Environmental
Science and Pollution Research, 26(4) (2019) 3980-3990.

HOW TO CITE THIS ARTICLE

Silica Fume, AUT J. Civil Eng., 6(2) (2022) 175-190.

DOI: 10.22060/ajce.2022.21321.5801

P. Dashti, R. Banar, A. M. Ramezanianpour, A. Zolfagharnasab, A. A. Ramezanianpour, M.
Nikravan, Evaluation of Sustainability Performance of Cementitious Mortars Containing

189






	Blank Page - EN.pdf
	_GoBack




